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def find_gr(L):

n=len(L)

p=0

for x in L:

GEMAT

if x[n-1] = T’ and x[n-2] = ‘g’ and x[n-3]= . : %
p=p+1 ?\

return p ‘

def EISITIRIO(x,y): A

cost =x*10 + y*5

return cost

theseis = 500

synolo = 0

enilikes = i

syn_enilikes =0 &

syn_paidia =
t("ITANP0g evnAikav rapeag: ")

|=

. .

aidia = input("TIAn6og maidiov rnapéag: ")

nilikes + paidia > theseis:

else:

enilikes = -1

kostos = EISITIRIO(enilikes,paidia)
print "ZuvoA1ko Kootog elottnpinv ", kostos
theseis = theseis — enilikes — paidia

synolo = synolo + kostos



syn_enilikes = syn_enilikes + enilikes
syn_paidia = syn_paidia + paidia
if enilikes != -1:
enilikes = input("I1A1)00g eviiAikaov napsag: ")
pososto = paidia / (enilikes+paidia) * 100.0

print "ZuvoAwka €ooda: ", synolo

print "Tlocootd naidimv: ", pososto ?
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LI=["a","8","y","B","8","y","B"," a","8","y","B","56", "v4’B &"]
SV =] \\

ON = []

for i in range(20):

put("Antdvinon padntr): ")

if ap == LI[k]:
sb=sb+3

elif ap !="¢":
sb=sb-1

SV.append(sb)
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sum = 0.0
for x in SV:
sum = sum + X
mo =s/20.0
for i in range(20):
if SV[i] >= mo:

print ONJi]
for i in range(19):

for j in range(19,i,-1):

if SVIj| > SV[j-1]:

print "Ot1 padnteg pe g 3 U

print ON[0], ON[1], &
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